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O 0.078 x4 = 3.12 @ 0.78x4 =3.12
@ 7.8x4=2312 @ 78%x4=3.12

® 78+4=23.12



7.



I2AQ.

o

8. 328x14=4592¢ ) EA A

O 328 x 1.4 = 459.2 ®@ 32.8x0.14 = 45.92
® 328 x0.14 = 45.92 @ 3.28 x 1.4 = 4.592

® 3.28x 14 = 45.92



O Al #He] dol7t 242 5em, 4cm, 4cm 9

@ A el doj7t Z+Zt 4em, 5em, 10cm Q)

o7k 242k 9 em, 12cm ©]aL, Z1 Abe] €] Zbo]

T o
7 R

W <m

b

o] 77} 110°, 80° <1 47}

7}

I
E

of

]

a

o] Z4o]7}6 cm ©|

gl

oA



10.

AAPL 1Y 4 9)

rr

271

o

BE DEAQ,

@ Al ¥e] Zol7}F 6em,4em, 7em &
@ A M9 Zol7F 3em, 2cm, 6em D
® A ¥He] dol7t 5em,4em,9em Y
@ <t Ho] 8emo|l F BZo] 60°, 50° L T

® g o] 10cm oAl oF BZto] 70°, 40° 4 uff



11.

2| U | F | AD | 58| skhl | 814
92 96| 80 | 76 | 88

© 924 @ 947 ® 964

@ 974



12. 295 x 180 = 53100

[ el 12t

@[ |x18=531
® [ |x0.18=531
® [ |x0.18 =531

o

@ 29.5%x[ ] =53100
@ 2.95x| |=531



cm ¢! 4

13. A%ol= 7127 24cem o3, AI27F 10 2+
we} A2 ohe, 193} 2o ojo] Bg&
1 =
A
LS o - =]
HE Ln, ARnc, ARcuo] dolrl BE 23, A7t =tk
o] Yo7k 90 em? 2ol & mf, o]o] &1 meFe] AA| Yol grtdd
Y7o
@ 150 cm? @ 170 cm? @ 190 cm?

@ 210 cm? ® 230cm?



14. 9JHolL v E 2Yst= d A< %

[e]

=

5

gt o314

=2

oA ol7h 4 & FR T Lo 2 A LupdA] +

12
O = @ ® @ 5

SHAlS.






